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The following pages show the Power Maths White Rose Edition progression in calculation (addition, subtraction, multiplication and division) and how this
works in line with the National Curriculum. The consistent use of the CPA (concrete, pictorial, abstract) approach across Power Maths White Rose Edition
helps children develop mastery across all the operations in an efficient and reliable way. This policy shows how these methods develop children’s confidence

in their understanding of both written and mental methods.
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KEY STAGE 1

Children develop the core ideas that underpin all calculation. They hegin by connecting calculation with counting on and counting back, but they should learn that
understanding wholes and parts will enable them to calculate efficiently and accurately, and with greater flexihility. They learn how to use an understanding of 10s and. 1s
to develop their calculation strategies, especially in addition and subtraction.

Key language: whole, pan,mm,wn&,munbum,addq.addiﬂum m,mmww,mmmwmw@mmw,mmm

Addition and subtraction: Children first leam to

they soon develop two very important skills: an
understanding of parts and wholes, and an
understanding of unitising 10s, to develop efficient and
Addition and subtraction are taught in a way that is
operations.

A key idea is that children will select methods and,
approuches hased on their numhber sense. For example,
in Yearl, Mm}amdmnﬂmﬁ —3and,15—13 they will
appropriately. The teaching should always emphasise
accwracy and flexibility of approach, and the

their recall of honds within 20 to support both addition
and subtraction methods.

Multinlication and divisior: Childrer develon ar
in equal steps, starting with 2s, 5s and 10s. In Year 2,
they learn to connect the language of equal groups
livision.

Thag,warnhownuunpbwbwnand,wmswncwmbe
Jind the answer to the calculation.

In this key stage, it is vital that children explore and
expenznwamrwtg,ojlsﬂongunuge&ax@mmdﬂnya
experwrwe&a&wau,a&ab&tractcalculanon&

including doubles, and an understanding of the 2, 5
and 10 times-tahbles and how they are related to

counting.

Fractions: In Year 1, children encounter halves and,
sharing. They experience key spatial representations of
these fructions, and learn to recognise examples and,
non-examples, based on their wwareness of equal parts
of a whole.

In Year 2, they develop an awureness af unit fractions
and experience non-unit fractions, and they learm to
write them and read them in the common format of
numerator and denominator.
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The parts are 2 and 4. The whole is 6.

The parts are 2 and 4. The whole is 6.

Year1
Concrete Pictorial Abstract
Year1
Addition
Counting and | Children add one more person or ohject to-a | Children add one more cube or counterto-a | Use a number line to- understand how to link
adding more group to find one more. group to represent one more. counting on with finding one more.
one maore
oo o ofel AR ERREE
One more than 4 is 5. One more than 6 is 7.
7 is one more than 6.
Leam to link counting on with adding more
than one.
012345678400
00900090 O®O0OO0
5+3=8
Understanding | Sort people and objects into parts and, Children drow to represent the parts and Use a part-whole model to represent the
lationshi

2+4=6

Power Maths © Pearson 2022
Copying permitted for purchasing institution only. This material is not copyright free. Pearson is not responsible for
the quality, accuracy or fitness for purpose of the materials contained in the Word files once edited.




Power Maths White Rose Edition calculation policy

-PoVJER
MATHS

Knowing and Break apart a group and put back together | Use five and ten frames to represent key, Use a part-whole model alongside other
honds within
10
0000 @ 0000 e
3+4=7 5441 ‘OOOO
-0 C006-
- 0|00/ (10)
10=7+3
Make sure to include examples where one of
the parts is zero.
Understanding | Complete a group of 10 ohjects and count Use a ten frame to support understanding of
teen numhers more. a complete 10 for teen numhbers. 1 ten and 5 ones equal 15.
10 I 12 13 14 et
C|0|0|0|0||0|0|0|0
OO0 00O

13 is 10 and 3 more. 74 is 10 and 4 more.
Adding by Children use knowledge of counting to 20 to | Children use counters to support and, Children use number lines or number trocks
counting on i . a total by counting on using people or | represent their counting on strategy. to support their counting on strategy.
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OOOOD

Y Y Y Y

7

7+5=D

PIPPy
l

(5)-(&)=(]

Year1
Subtruction
Counting hack Children draw and cross out or use counters | Children count back to take away and use a
and taking to represent ohjects from a problem. number line or numhber track to support the
away methotd.
ﬁiamﬁ
1,448 S22
000000 01 234567849I0
7 loss than 6 is. 5. Now there are 6 children. i
6 subtract 1 is 5. 97376
Finding a Children separute a whole into parts and Children represent a whole and a part and, | Children use a part-whole model to support
missing part, understand how one part can be found by | understand how to find the missing part by | the subtraction to find @ missing part.
given a whole | subtruction. subtruction.
and o part = X (8)

§-5=7
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subtruction facts in a part-whole model.

(2) 0-0-0 0-0
(1) 5 0-0-0 0O-0

U
.

Finding the Arrange two groups so that the difference Represent objects using sketches or counters: | Children understand ‘find the difference’ as
ii;?i?%; ééééé L 1L 1 1 1 1L (-m i
ngiix OO0 00 01 23456784I0
8 is 2 more than. 6 5-4=1 10-4=6
6 is 2 less than 8. The difference between 5 and 4 is 1. The difference between 10 and 6 is 4.

The difference between 8 and 6 is 2.

Year1

Multiplication

Recognising Children arrange objects in equal and Children draw and represent equal and Three equal groups of 4.

and making unequal groups and understand how to unequal groups. Four egual groups gf. 3.

"800 o0 O
A 8 %® % oo
Aa 44 aa

Finding the 100 squares and ten frames support Use a numher line to- support repeated

total of equal counting in 2s, 5s and, 10s. addition through counting in 2s, 5s and 10s.

grouns by NNNNNNNN
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and find how many equal groups of a

Sort a whole set people and ohjects into

equal groups.
O000O)HLOOOO

counting in,2s, . B 10 10 10 10 10
ronitor | menanspmeneanges. | SHEEHRHEE YYD
5...10...15...20...25...30...35...40... /e @0 [@/e) @0 @@
1]2]3]4]s]|e|7]s q | : } : : |
21122|23(24(25(26|27 |28 2q 0 IO 20 30 40 50
31(32(33(34|35|36(37(38 3q
4 (4243|4445 |46 47|48 z.q
Year1
Divisi
Grouping Learn to- make equal groups from a whole Represent a whole and work out how many, | Children may relate this to counting hack in

steps of 2, 5 or 10.

Y YT Y

work out how many are in each part.
XXX OOODOD

\*\@

% &

equal parts. This may be related to
Jractions.

Do 5T O O
Q:Lfkﬁo %%@I o@ % amé

.
E G 35§

There are 10 in total, 0123456789101 12131415
There are 5 in each group.
There are 2 groups.

Sharing Share a set of ohjects into equal parts and | Sketch or draw to represent sharing into 10 shared into 2 equal groups gives 5 in

each group.
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Yewr 2
Addition
Understanding | Group objects into 10s and. 1s. Understand, 10s and, 1s equipment, and link | Partition 2-digit numhbers into 10s and 1s
10s and 1s with visual representations on ten frames.
o9 @O0
V909 @ ¥ OO
.' ' g o
7
Bundle straws, pencils or pens to ,
understand, unitising of 10s. @
| NI l‘l HIOI
== OXO
32=30+2
within 10 in recall off numhber honds within 10 in recall off numhber honds within 10 in recall of numhber honds within 10
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o] W, W

4 + 4 =8 This is a double

000009
00000

This is a bond to70. 9 + 7 = 10

+ 0 | 2 3 4 5 6 7 8 9 10
0 0+0 O+l 0+2 0+3 O0+4 0+5 0+6 0+7 | 0+8  0+9 0+I0
L 1+0 1+ 142 143 144 145 146 147  1+8 149

2 240 241 | 242 243 2+4 | 245 246 247 248

3 340 341 | 3+2 343 344 345 346 3+7

4 440 4+ | 4+2 443 4+4 445 446

5 540 5+ |5+2 5+3 5+4 545

6 6+0 641 6+2 6+3 6+4

7 740 7+l | 742 743

8 8+0 8+l 8+2

9 9+0 9+l

10 1040

Adding the 1s

Children represent 10s and, 1s with everyday,
items.

Children represent calculations using ten
Jrames to add a teen and 1s.

00000 900000

Children recognise that a teen is made from
a 10 and some 1s and use their knowledge of
addition within 10 to work efficiently.

3+5=8
000 ® S0, 13+ 5 =18
2+3=5
12+3=175
Bridging 10 Children use counters to complete a ten Use a part-whole model and @ numhber line. | Children use a head, string to complete a 10
using numher | frume and understand how they can add, to support the calculation. and understand how this relates to the
honds using knowledge of number honds to 10 addition.

0000000 OC0— OO~

7 add 3 makes 10.
So; 7 add 5 is 10 and 2 more.
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Add two Use known honds and unitising to- add 10s. | Use known honds and, unitising to add 10s. | Use known honds and, unitising to- add 10s.
multiples of 10
@ ‘ e + 6660 - 960686806
I knowthat2 + 3 = 5, + - Eggg
So; I know that 2 tens add 3 tens is 5 tens.
3+2=5
I bnowthat2? +3 = 5 ;g’fz;it;g&=5m
So; I know that 2 tens add 3 tens is 5 tens.
Add a 2-digit Add the 1s to find the total. Use known Add the ones using known honds Add the 1s.
numher and 1s | honds within 10.
=S Understand the link between counting on
M M ﬂ afjninln and using known numhber facts. Children
10 10 10 10 ﬂ@ﬁj | 1 should be encouruged to use known numhber
, : afininln N gg honds to improve efficiency and accuracy.
41 is 4 tens and 1 one. ::::e 6 TP - o .
41 add 6 ones is 4 tens and 7 ones Doon 30 31 32 33 34 35 36 37 38 39 4
7+6=7
4+5=9
So
So
47+ 6 = 47
34 +5=39
Add to the next | Use known honds to 10 to- add to the next Use known honds to 10 to add to the next Use known honds to 10 to add to the next
10 multiple of 10 multiple of 10 multiple of 10
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OO0
00O

CO0000O
OOO000O
0000

0000

3+O=|0

[ 60 |

33+ J=40

| 55

43+ J=50
73+ J=280

55+ J=60
(30

45 +5+2 =52

45 +7 =52

+5 +2

43 44 45 46 47 48 49 50 5 52
45 +5+2 =52

45 +7 =52

53

8+2=10
- )
28 +2 =30
86+ ]=40
Add across a 10 | Use place value equipment to support Add across any multiple of 10 using two Add across any multiple of 10 using two
adding across any multiple of 10 Jumps steps

45 +5 +2 =52

45 +7 =52
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Add 10s toa 2- | Add the 10s using a place value grid to Add the 10s using a place volue grid to Use known honds and knowledge of place
digit numher support, using classroom items to represent | support. value to add multiples of 10
the numbers.
- T 9 ®]
T o 16 +30 =72
oo 2oe 1 ten + 3 tens is 4 tens
008 P9
There are 4 tens and 6 ones in total.
% 16 + 30 = 46
o . A
76 is 1 ten and 6 ones.
16 is 1 ten and 6 ones. 30 is 3 tens. . .
30 is 3 tens. There are 4 tens and 6 ones in total, Count or irv tens, @ given number
There are 4 tens and 6 ones in total, , S e e e,
Start on 16, 26, 36, ‘46
16 + 30 = 46
Add more 10s | Add on from a 2-digit numher by adding Add on from a 2-digit numher by adding Add on from a 2-digit numhber by adding
then more 1s tens then ones. 10s then 1s. tens then ones.
D i =
EEsssssss) r il m 23+12=23+10+2
000 y OO . G0 I i i
23 33 35
Start on “23”, “33” “35” 23+72=23+70+2
Add the 1s and | Add the 10s and 1s separately. Add the 1s and the 10s then recomhbine Add the 10s and 1s separately.
10s separutely
32+ 11
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= 5 30 + 10 = 40 2+1=3
PP ALY E et 32+ 17=43
5+3=8 0000
There are 8 ones in total.
3+2=5
There are 5 tens in total, )
3 ones and 4 ones is 7 ones
35 +23 =58 _
4 tens and 3 tens is 7 tens
43 +34 =77
Yewr 2
Subtruction
Subtruct two Use known numher honds and unitising to | Use known numher bonds and unitising to | Use known number honds and unitising to
multiples of 10 | subtroct multiples of 10. subtract multiples of 10. subtract multiples of 10.
T ( 100 | (70)
5555557 | - @ ®
8 subtract 6 is 2. 10-3=7 ' 7 tens subtract 5 tens is 2 tens.
So; 8 tens subtract 6 tens is 2 tens. So; 10 tens subtract 3 tens is 7 tens. 70 - 50 = 20
Subtruction Subtruction within 20 Subtruction within 20 Suhbtruction within 20
within 20 Understand when and how to subtract 1s Understand how to use knowledge of bonds | Understand when and how to subtruct 1s
Piciently. thin. 10 to- sul iciontly. iciently.
5-3=2 Use a head string to subtract 1s efficiently.
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Fori3 - 5, I take away 3 to make 10, then
take away 2 to make 8.

15-3=12
slelelel® o
2’_33::272 15-3=12
Subtructing 10s | Subtructing 10s and 1s Subtructing 10s and 1s Subtructing 10s and 1s
and 1s For example: 18 - 12 Use a part-whole model to support the For example: 18 - 12
calculatior.
Use ten frames to represent the efficient G
method of subtracting 12.
,"“‘ 0000 e @ ° First subtract the 10, then take away 2.
79 - 14
©00060 ©ee o100
, 9-4=5
First subtract the 10, then subtract 2. S 19-74=5
Subtruction Subtruction bridging 10 using numhber Subtruction bridging 10 using numher Subtruction bridging 10 using numher
bridging 10 honds honds honds
using numher | Represent the use of honds using ten Use a number line and a part-whole model | For example: 12 - 7
honds Jrames. to support the method.
: Arrange ohjects into- a 10 and some 1s, then
“ ﬁ 3-5 decide on how to split the 7 into parts.
00 &
.‘O
.‘. 782 and 5, so I take away the 2 and
!! T B ~2 ~ B then the 5.
I5I6I7I8‘I31II0IIIII2IIB
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Subtructing @ | Subtruct the 1s. This may be done in orout | Subtruct the 1s. This may be done in orout | Subtruct the 1s. Understand the link between
single-digit of a place value grid using classroom items. | of a place volue grid. counting back and subtructing the 1s using
numher to represent the numbers. known honds.
¥ AR
¥ —t—t—t—t
ol ~eeee jyy°ccse 30 31 32 33 34 35 36 37 38 39 4
e | eggtes Y e ¥ ¥
T 0 T o)
10 .7"‘:‘ - @ Eg @ Q @
0@ [0 | g o 5 ¥ Pogw
39-3=36
“9 ones subtract 3 ones is 6 ones’” “9 ones subtract 3 ones is 6 ones’”
39 -3=36 39 -3=36
Subtructing a | Bridge 10 by using known honds. Bridge 10 by using known honds. Bridge 10 by using known honds.
single-digit - -
numher o0 0000 ¥ 0[0|[@/0| (@0 (06 =
bridging10 | ool @0l iele|is o/0|[0/0| 008 YT
00060606 O0I00Ia0 —t
oe/esles el 00 @@ 16 17 18 19 20 21 22 23 24 25 26
35 -6 35-6 24-6=7
1 took away 5 counters; then 1 more. First, I will subtract 5, then 1 24-4-2=7
Subtruct tens Subtruct tens using known honds Subtruct tens using known honds
Jrom a 2-digit
numher
43 -170 =33
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0006000
57 - 10 = 47

Subtract the 1s. Understand the link hetween

Subtruct ones. | Subtruct the 1s. This may he done in or out | Subtruct the 1s. This may be done in or out
Jroma2-digit | of a place value grid. of a place value grid. counting back and subtructing the 1s using
numher known honds.
R [ A S s §§§é§§ S —
e[l ey o eees 30 31 32 33 34 35 36 37 38 39 4
VIV IVICE R ]
T )
ol o= THER 9-3=6
el ke S 99 | ®¢®
W e w
9 ones subtract 3 ones is 6 ones. 39 -3=36
9 ones subtract 3 ones is 6 ones.
39-3=36
39 -3=36
Subtruct tens Subtruct 10s then 1s using place value Subtruct 10s then 1s with @ numhber line for | Subtract 10s then 1s.
a 2-digit 25-10-2=13
numher

25-712=173
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OTTTTTIT1T1T7 (—_2\/—!0\
g@@m A L
25-710-2=173
25-710-2=173
25 -712=173
25-72=173
Subtruct ones | Subtruct from a 10 using known honds to 10 | Subtract from a 10 using known honds to Subtract from a 10 using known honds to
Jrom a multiple | using place volue equipment. 10. 10.
aof 10
(preparation | (55
Jor bridging) Q0O -2
QOI 10-3-7 N\ |10-3=7
Og SR
)] U 30-3=27
50 -2 =48 007
—_— T4 90 - 3 =87
(X ]
I
._. m DD 30 -3=27
00| (00 08
00 00 99
00 00 00 00 ©0
:: 00 00 00 00
o000/ 00 (09|(08]
00 00 00 00 88
Suhtruct Subtruct in two steps, across a 10 with Subtruct in two steps, across a 10 with a Subtruct in two steps, across a 10.
bridging aten | place value equipment. number line for visual support.
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00000
gesss

w
v
I
(93]
I
w
o

Tl

|

|
(1]

‘

) 4

|

[

HH

0009
00

000
0e®
00

29 30 31 32 33 34 35 36 37

35-5-1=29

47-6=41-17-5

47 -6 =35

Year 2
Multiplicati
Equal groups Recogmsaea,uaLgmup&aMwnbea& Recognise equal groups using standard, Use a numher line and write as repeated
ht# ht# hiﬁ 000 ©00 000 |\
3 groups gf 5 chairs 5+5+5=1]5
75 in total
Using arrays to | Understand the relationship hebween arrays, | Understand the relationship between arrays, | Understand the relationship hebween arrays,
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and suppert | AIMIMMIMIM 00000 Y Y ¥ ¥
understanding ES S o S O 910101010 | : : : } :
Q0000 o 5 10 15 20 25
12421 00000
=YY= sleielele sr52s
4 o5 4 groups gf 5 ... 5 groups gf 5
Understanding | Use arrays to visualise commutativity. Form arrays using counters to visualise Use arrays to visualise commutativity.
commutativity commutativity. Rotate the array to show
that orientation does not change the £ o o 4 Q
@
i b I
000000 888888
I can see 6 groups gf 3. 4+4+4+4+4=20
I can see 3 groups f 6. This is 2 groups gf 6 and also 6 groups gf2. | 5 + 5 + 5 + 5 = 20
4x5=20and5 x 4 =20
Learning x2, x5 | Develop an understanding of how to unitise | Understand how to relate counting in Understand how the times-tahles increase
and x10 tahle | groups of 2, 5 and 10 and learn unitised groups and repeated addition with. | and contain patterns.
0000000000
000000000
0]0]0]0]0]0]0/0[6]¢)
0 10 20 30
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70 + 70 + 10 = 30
3 x 70 =30

... 10, 20, 30

L R O
10 10 10 10 10 10 10 |oﬂ

101010 10 10 10 10 10 10 10 10 I8

5x 710 =50
6 x 10 = 60
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Year 2
Divisi

Sharing equally

Start with a whole and share into equal
parts, one at a time.

000000000000

oY)
=

12 shared equally between 2.
They get 6 each.

Start to understand how this also relates to
grouping. To share equally between 3
people, take a group of 3 and give 1 to each
person. Keep going until all the ohjects have
heen shared,

75 shared equally between 3.
They get 5 each.

Represent the ohjects shared into equal parts
using a bar model.

010
0]0)

0]0)
00

OO
OO

OO
@0

OO
0]0)

Use a bar model to support understanding of
the divisiorn.

0000000000000 0O0000O0
18

[ | )

20 shared into 5 equal parts.
There are 4 in each part.

18+2=9
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20 divided by 4 is 5.

Grouping Understand how to- make equal groups from | Understand the relationship between Understand how to relate division by,
equally a whole. grouping and the division statements. grouping to repeated subtruction.
ro207800 (no2o)izdfog |2:2-¢
ceceeccoecee 2°9ccdesdese
8 divided. into 4 equal groups. 2rh=3 KYW\
There are 2 in each group. 0000000000 @®® 0 | 234506789101 2
2:6=2 There are 4 groups now.
CIDCIO) CIO ) CIO) )
2:2=6 12+3=4
@eeeeedeeeeee
Using known Understand the relationship hebween Link equal grouping with repeated Relate times-table knowledge directly to
Ive divisi livision.
I x10=10
@%%%@ (66660666060 0000000000 00000000 0000000000 2xx 10 =20
@%@%@ P S 3x10=30 | Iusedthel0
& A " = ] 4 x10 =40 times-table
@%%%@ 5x10=50 to help me.
. , 6 x10 =60 3 x 10 =30.
(N> 40 divided by 4 &5 10 7x10=70
8 x10=280
U bar model to support understanding
. . o;;immmumwmmww 1 know that 3 groups of 10 makes 30, so'I
4 groups of 5 cars is 20 cars in total, and, division. know that 30 divided by 10 is 3.

3x10=30 so 30=10=3
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